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QUESTION 1

An integration developer needs to perform an iteration over an array of elements using the Fan Out - Fan In primitives. 

Where in the Service Message Object (SMO) can the integration developer find the data of each occurrence of the
repeating element? 

A. In the body section. 

B. In the user context section. 

C. In the shared context section. 

D. In the primitive context section. 

Correct Answer: C 

 

QUESTION 2

An integration solutions developer needs to create a module with a many-to-many mapping between service requesters
and service providers supporting Web services. 

Using the patterns explorer, which pattern would be most appropriate? 

A. Proxy Service Gateway 

B. Static Service Gateway 

C. Dynamic Service Gateway 

D. Dynamic Simple Service Proxy 

Correct Answer: A 

 

QUESTION 3

An integration developer has developed a module which depends on two libraries. LIB 1 and LIB 2. The libraries have
business objects with a common namespace. The module references a business object A in LIB 1 and business object
B in LIB 2. 

The integration developer is facing an issue that if the LIB 1 is listed first in the dependency editor the application code
within the module can find business object A but not business object B. Similarly if LIB 2 is listed first in the dependency
editor, the program will find business object B but not business object A. 

Which of the following solution options follow the best practices to resolve this namespace conflict? 

A. Move the artifacts with common namespaces in the same library. 

B. Refactor the namespaces of the artifacts in LIB 1 and LIB 2 so that they are unique. 

C. Remove the dependencies and place all required artifacts/business objects in the module itself. 
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D. Move business object A in the module and delete LIB 1 so that the module has dependency on a single library LIB 2. 

E. Change the namespace of the artifacts in the libraries to be the same as that of artifacts in the module which is
dependent on these libraries. 

Correct Answer: AE 

 

QUESTION 4

An integration developer has implemented an error handling strategy for a mediation module as illustrated in the Exhibit.
According to the strategy, if a runtime exception occurs during the invocation of the target service, the module must: 

store a trace message in a file 

store an error code in a DB error table 

throw an exception in order to propagate the error to the invoking component 

But at runtime the developer observes that when a runtime error occurs, no error code is written in the DB even if the fail
primitive is executed. 

What could be the most likely cause of the problem? 

A. The \\'Join transaction\\' qualifier of the \\'JDBCImport\\' interface is set to True\\' while it must be set to \\'False\\'. 

B. The \\'Transaction\\' qualifier of the \\'ErrorHandlerMed\\' implementation is set to \\'Global\\' while it must be set to
\\'Local\\' 

C. The \\'Join transaction\\' qualifier of the \\'TargetServicelFPartner\\' interface is set to \\'\\' while it must be set to
True\\'. 

D. The \\'Asynchronous invocation\\' qualifier of the \\'JDBCImportPartner\\' reference is set to \\'Commit\\' while it must
be set to \\'Call\\'. 

Correct Answer: A 

 

QUESTION 5

An integration developer is developing a mediation flow component to integrate PeopleSoft Enterprise. The integration
developer has identified WebSphere Adapter for PeopleSoft Enterprise for this integration. Which technology
specification is implemented by this adapter? 

A. Java EE Connector Architecture (JCA) 

B. Java EE Component Architecture (JCA) 

C. Java EE Connectivity Architecture (JCA) 

D. Java EE Communication Architecture (JCA) 

Correct Answer: A 

C9550-605 Practice Test | C9550-605 Study Guide | C9550-605 Braindumps                                3 / 4

https://www.passapply.com/c9550-605.html
https://www.passapply.com/c9550-605.html
https://www.passapply.com/c9550-605.html


https://www.passapply.com/c9550-605.html
2024 Latest passapply C9550-605 PDF and VCE dumps Download

C9550-605 Practice Test C9550-605 Study Guide C9550-605 Braindumps

Powered by TCPDF (www.tcpdf.org)

C9550-605 Practice Test | C9550-605 Study Guide | C9550-605 Braindumps                                4 / 4

https://www.passapply.com/c9550-605.html
https://www.passapply.com/c9550-605.html
https://www.passapply.com/c9550-605.html
http://www.tcpdf.org
https://www.passapply.com/c9550-605.html
https://www.passapply.com/c9550-605.html
https://www.passapply.com/c9550-605.html

